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A is nxn matrin.

The -?ollow‘mj are aq,uimluu&’

is rislvt—?n\rw-ub(l. (ov A has ar‘naH' .'num)

@ A s legt- ekl (sv A has a Left ?nvw.»)
<

s inverhible
* The columns of A ave lirearly inclipendeit-
* The rows of Aare l'\m.ar(j ino&iu.uo&d

Crucial Piece. : A has a Lt invena. =
A has a riaht T Aweite

Logicﬁ A has left inwrn =>
cds of A are lineavly in Lpolod =
eols of A ave a basis (bl n n-udu) =>

\Y—orbu.r t=h2y.,n, &; isa hreav]

comboinatin of cols A >

[jo-l = Fl c°\|A’+P7,' CdLl_A *.. PV\ c"lnA
[
= £,a4, 4—P7'A-L-l- . 4-Phq,\ 4= col A

and Simclar for €ryLy,..,Cn
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